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Figure 3.1  The Circular Flow of Dollars Through the Economy
Mankiw: Macroeconomics, Sixth Edition
Copyright © 2007 by Worth Publishers



Wage determination

Using the Classical 
Model



Let Y=F(K,L)= 100*K0.5L0.5 

Does this production function exhibit 
constant returns to scale? Does it exhibit 
diminishing marginal product with respect 
to labour? (For simplicity, if you want, fix 
K=100.)



Y=F(K,L)= 100*K0.5L0.5 

Solve for the equilibrium real wage if 
K=100 and L=25. (First explain how you 
would solve and then find the numerical 
answer.) List the assumptions made in the 
classical model about the behaviour and 
circumstances of firms, the determination of 
K and L, and the relationship between the 
factors of production and output.



Y=F(K,L)= 100*K0.5L0.5 

In the real world, the marginal product of 
labour is unobserved. However, we can 
observe the average product of labour Y/L. 
Given the Cobb-Douglas aggregate 
production function, how could we test the 
relevance of the Classical Model in terms of 
the relationship between the MPL and real 
wages?



Table 3.1
Mankiw: Macroeconomics, Sixth Edition
Copyright © 2007 by Worth Publishers







Consumption Function

How reasonable is the consumption function?

C=C(Y-T)







Crowding out

Using the Classical 
Model
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Real Interest Rate
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Goods Markets: Y=C(Y-T)+I(r)+G

Factor Markets: Y=F(K,L)

Financial Markets: S=I

S=(Y-T)-C + (T-G)

S=Y-C-G=I

Summary of Classical 
Model



Exogenous variables:

K*, L* (endowment)

T*, G* (policy, politics)

P* (money)



Endogenous variables (sometimes trivially):

Flows

Y, C, I, S

Real Prices

W/P, R/P, r



Assumptions:

F() has constant returns to scale and 
diminishing marginal products

C() is linear

I() is negative

Firms are profit maximizing and price 
takers in input and output markets



Made strong assumptions (profit max, stable 
F(), C(), I(), fixed K,L, exogenous G,T)

Generated strong predictions (productivity 
and wage determination, budget deficits and 
crowding out)

Considered historical data, including as 
motivation for function form of F(K,L)

What have we done?



Going forward

Open economy can explain failure of 
crowding out prediction (ch. 5)

Real interest rate may not be only thing to 
adjust to bring about general equilibrium 
(chs. 10-11) 

More complex models of consumption may be 
relevant too (intertemporal considerations)  
(ch. 16)



Next time: Money and Inflation (Chapter 4 
of Mankiw)


